ERRATA for Text 

Operations Management 7/e by W. Stevenson

	Page
	Location
	Currently
	Should be

	57
	Bottom line
	=200 cases per hour per worker
	=200 cases per hour

	90
	First line, below table
	(1.36 + 1.40 + 133)/3 = 1.36
	(1.36 + 1.40 + 1.33)/3 = 1.36

	99

101

114
	Footnote

b. (2)  (two places)

solutions (under table) 

(two places)
	Square root sign covers only the denominator
	Square root sign cover entire equation

	108
	Mid page, in table, last line under calculations
	59.72 + .40 (64…
	58.72 + .40 (64…

	170
	#16c
	- 2 months
	+ 2 months

	186
	Equation (5-7)
	
	Delete Q from right side of equation.

	259
	Bottom figure
	Station 1: Time = 1.3 min.

Station 2: Time = 1.5 min.
	Station 1: Time = 1.6 min.

Station 2: Time = 1.2 min.

	285

286
	Figure 6S-8

Figure 6S-10
	Inspection line 

is missing
	Add inspection line.

	618
	In solution table, last column, 4 lines from the bottom
	Hire/layoff                $800
	Hire/layoff                     $400

	674
	#4
	..100 units of J now on hand.
	..20 units of J now on hand.

	675
	#8
	..50 units of B in a week
	..60 units of B in week

	788
	AON diagram, 3rd column of circles, inside the circles
	b

b

b
	c

f

i

	792
	Near top, in table, path d-e-f
	+ 1.00
	- 1.00

	826
	19-5
	
	Delete = Lg/(

	827
	Example 1, Solution b.
	 8
15
	 18

 15

	873
	Ch 2, #5 
	8.33%
	11.1%

	874
	Chapter 4S Answers
	#9.a.

#9.b.

#10-16
	#9

#10

#11-17

	876
	Chapter 10, #1.b.
	24.35 ounces to

       24.65 ounces
	24.40 ounces to

       24.60 ounces

	877
	#4
	 Range: UCL is 4.0009
	4. Range: UCL is 3.95

	878
	#21.c.
	.1433
	.1423

	882
	“Table”, Planned order receipts, Day 5
	(blank)
	150

	889
	Appendix, Table B.2
	Header is reversed
	Header should begin with 

z, .00, .01 …….


